Nk

WU IR P BUBLAR A BR 2 7]

Ak A% FK -

(e} S
%4NB7B6W%%%%%%4N”5H%%%mw7611823m712111
s
EEEEEEEEEEEEEEEEEEEEEEEEEES@ﬁéﬁﬁAlAlEEEEE
+=
ip
&

R S
~|l ] ©| v 2262866 855265 = [l Lo
-l d]l ]S FSlo|l s Fld]l 3]sl S vl =]l =] =]~=]F]w S| = = | — o~
sl 2l 22l 2l sl 21202l lxlelEl21E8lslxlxlxlxlxl225z2] 2 2l x| -] %
Mmool Nl Flol NI N]IOSHS|lOlwWWlOO|lOlO|lWOl M| N O ©f! — N v Tl o]l e=]l=]l=]| =] =
......*.................bﬂ\%VKt..,.05006
Nl nmn]lF|l vl vl vl NNl Nl NI N~ ]| —~] —~=] ] =] =] —=] =] ]| » OO N N N ]| ]| D] ] ] Nn
S
0 ~
£ ~E
& 2|
b =8 g |
m = = OO
zle|\clele|\e|lele|\e|lele|le|le|e|le|le|e|e|le|e|ele|e|e| %oz m|m| S
ElE|E|E|E(E|E|E|E(E|E|E|IE|E(E|E|E|E(E|E|E|E|E(E|E|D|D|H[E|H|IXIE[ZZ2{FHE
EIEIFIFIFEFEEEEEFEEEEEEFIFIFIFIEIEIEIREE T EINXHE[E(E(EE
iy ol ~|N| | | w]o|l~|ow|oo|o| —~|N|n]|F|w]|lo| ]| ~|lN] | || o =
il SN BOCH B BUSH IR Bl ISl NS ry el QNS By phibg Bty il il iy o) Bl IPSTH IR BN BN BN BN B B M BN R ) R R R e e R




38 HELEAR 13-15T z 3
39 HELEAR 25-30T z 1
40 HETEAR 25-30T = 1
41 HEAE A5 20-26T == 1
42 8K 3. 5%3. 5m A 2
43 BABE Ol B £ 1
44 BABE i B £ 1
45 RS HMEL Im, Eilm A 3
46 e = L BE SX2-5-12A = 1
47 B R AR FEAL XQY-T11 = 1
48 B IR R X XSZS-02 = 1
49 N AL204 & 1
50 AR s R s 31079 = 1
51 TRISHL $2004 = 1
52 PR CA6140A & 1
53 AR 0. 755 15K A 1
54 RS 18902-201 = 1
55 JE A AHL QR3210 = 1
56 RO $243C & 1
57 RO HJH-05 = 1
58 RO HJH-05 = 1
59 ARNGE S 10T A 1
60 KA 77 A 1
61 LY CTREREN 10T A 1
62 BT AT 0CS-30T = 1
63 HL T AT 0CS-20 = 1
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Frg I 58 5% 7 44 RS rERA | HE
1 A 3. 3%7 = 4
2 A 3. 5%5 z 17
3 A D AH 3.2%4.7 & 12
4 Wb FE 4. 5%4, 5 = 7
5 A 3.6%3.6 £ 13
6 A 3.5%3.5 z 6
7 A D AH 3%3.6 = 27
8 A D AH 2.5%3.2 & 45
9 IR AE 2. 4%4. 2 & 22
10 AR 2.6%2.6 = 66
11 A 2. 25%2. 25 = 45
12 A D AH 2.2%2. 8 = 43
13 A D AH 1. 9%2. 6 & 50
14 IR AE 1. 6%3. 6 z 4
15 IR 3. 5%4 £ 10
16 IR 1. 8%5 = 17
17 L] 1. 8%7 1= 5
18 A 1. 6%2 £ 120
19 IR FE 1. 6%1.8 & 48
20 A 1. 5%15 £ 46
21 A 1.3%1.5 E 40
22 A D AH 1. 2%1. 2 = 120
23 A D AR 3.6%3.6 = 13
24 WA 3.6%5. 5 = 7
25 3 HL gt & 6
26 EEE% GEHO FEK6m H 1
27 RSz CERD K1lm H 1
28 FHi#fi 5t G 8
29 WREHR DL 2. 2kw = 2
30 LR 2.3%1.5 H 3
31 JEP 2-4t A 10
32 MIEIR 1.5%2.5 A 7
33 e = L BE SX2-5-12A & 1
34 AR e 31079 = 1
35 IBIHL $2004 = 1
36 HEAE A5 40T =S 1
37 MEAEREE O 35T B 2




38 HELERE 1 40T =S 1
39 ML N = 40T £ 1
40 HETEAR 36T = 1
41 HEAE A5 13-15T == 3
42 HE LG A5 25-30T =S 1
43 HELEAR 25-30T z 1
44 HELEAR 20-26T z 1
45 CIDASE 71 3. 5%3. 5m A 2
46 PATE Ol B £ 1
47 BABE Ol 5 £ 1
48 RS HMEL 1m, Eilm A 3
49 B RIS FEAL XQY-T11 = 1
50 BRI IR A XS7S-02 = 1
51 SN AL204 = 1
52 PR CA6140A & 1
53 AR 0. 755 15K A 1
54 RS 18902-201 = 1
55 JE UL QR3210 = 1
56 RO $243C & 1
57 RO HJH-05 = 1
58 RO HJH-05 = 1
59 ARNGE S 10T A 1
60 KA 7T A 1
61 LY CTREREN 10T A 1
62 BT AT 0CS-30T = 1
63 M e 0CS-20 = 1
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